BALANCING CHEMICAL EQUATIONS PRACTICE

1.1H,+ 10— 1H,0 15.2 Al + 3 Br, = 2 AlBr;

2.3H,+ 1IN, —» 2 NH3 16.4Cr+3 0, —» 2Cr,0;

3.2Fe+3Cl,—» 2 Fe,Cl3 17.2 NaClO; —» 2 NaCl+30;

4.4Fe +30; — 2 Fe,03 18.2 AlIBr3+3 Cl, —» 2 AICls + 3 Br;
5.2A|203—> 4A|+302 19.1 CH100O+6 0, —» 4CO,+5H,0

6.2 KCIO3 —» 2 KClI+30;, 20.1C/Hyi+11 0, —» 7 CO; + 8 H,O
7.15s+8 0, —» 850, 21.2 Na+2H,0 — 2 NaOH+ 1 H;

8.2 FeBrs + 3 H,50; — 1 Fey(SO4)s + 6 HBr 22.2 Alls + 3 HgCl, —» 2 AICI; + 3 Hgl,
9.2CHe+70, —» 4CO,+6H,0 23.3 Ca(OH)z +2H;PO, — 1 Ca3(PO4)2 + 6 H,O

10.1 C4HeO3 +1 H,O —» 2 CH40;

24,

4 H,SiCl; + 4 H,O —» 1 HsSis04 + 8 HCI

11.1 CGHs+3 02 —p 2CO; +2 H0

25.

10 HSiClz + 15 H,O0 —» 1 H10Si10015 + 30 HCI

12.1 Al(SO4)s + 3 Ca(OH), — 2 AI(OH)s + 3 CaSO,

26.

3 AgNOs +1 KsPOs — 1 AgsPO4 + 3 KNOs

13.1P4+50; —» 2 P,0s

27.

1 C/Hg + 3HNO; = 1 C7Hg(NO)s + 3 H,0

14.16 Ag +1 Sg — 8 Ag,S

28.

1 CsHgO2 + 2 NaH + 2 HCl —» 1 CsH1,0; + 2 NaCl




